e -

G0l PRODUCT & ENGINEERING MA

TABLE OF NTENT
WELDED GIRT CLIP DETAILS
CC1010 — Bypass Lapped Girts
CC1020 — Bypass Simple-Span Girts
GENERAL DETAILS
BD0120 — Eave Strut At Endwall
BG0010 — Shortspan Joist Connections (Welded) @ Rigid Frame Rafter
BG0030 — Shortspan Joist Connections (Welded) @ Braced Bays
FRAMED OPENING CONNECTIONS
CG0060 — Girt To Jamb
CGO0050 — Header To Jamb
CG0055 — Jamb To Girt
CGO0053 - Sill & Header To Jambs
CG0059 — Jamb To Girt
CG0130 — Jamb To Rafter
CG0040 — Jamb To Finish Floor at Masonry Wall
CG0067 — H.R. Jamb To Cold Form Header
CG0068 — H.R. Jamb To Girt
CG0069 — H.R. Jamb To Girt
CGO0071 — Jamb to Box Beam Detail
CG0098 — Jamb to Box Beam Detail
HIP AND VALLEY PURLIN CONNECTIONS
BB0200 — Double Purlin at Hip
BB0220 — Hip Plate Detail
BB0300 — Double Purlin at Valley
BB0320 - Valley Plate Detail
COLD-FORMED BOX BEAM CONNECTIONS
ANO0430 — Eave Extension at Bypass Girts (Eave Strut)
AN0440 — Eave Extension at Bypass Girts (Eave Purlin)
BA0600 — Non-Sloped Flange Box Beam at Low Eave
BC0200 — Non-Sloped Flange Box Beam at High Eave or Ridge


Eric.Babcock
Snapshot


gl PRODUCT & ENGINEERING

CC1010 — BYPASS LAPPED GIRTS

ZEE GIRT
¢ COLUMN
USE (1) 1/2" X 1 1/4” |
THIN HEAD BOLT HO515/ | N\$
NUT HO400 AT THIS X hes
LOCATION. REFER TO THE cLp
"LAPPED GIRT DETAIL” FOR oo
ADDITIONAL  INFORMATION, 112 SECT. "A
3/4"1T " /GIRT Tg3/4”
F T Tl f g
| | | | L
| ! |
Jo—efo——er-4
| ' | :
| NS | s
| ! | O
60— —o—3
| L | e O
SHOP WELDED |CLIP |
GIRT LAP J GIRT LAP .
(SEE_ELEVATION) © (SEE ELEVATION)
DIM. "A” = 4" AT 8" & 10° GIRTS
— 8" AT 12" GIRTS
LAPPED. BYPASS GIRTS AT INTERIOR BAY COLUMNS
NOTE: "USE (7) 1/2°x 1 1/4” A307 BOLTS HO500/NUTS HO400
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER
REQUIREMENTS ( CC1010 )

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15
BY: AK CHK: EGB CC1010.DWG 11.2.2



Eric.Babcock
LEGACY PRODUCT INFORMATION


rocee & ENGINEERING

CC1020 — BYPASS SIMPLE-SPAN GIRTS

DIM. "A” = 4”7 AT 8" & 10” GIRTS
= 8”7 AT 12”7 GIRTS @ COLUMN

RIGHT HAND DETAIL SHOWN,
LEFT HAND OPPOSITE | = e

b2 | I I T
GIRT, IF /AN 34
REQUIRED GIRT

\ IR /
[
Y _______':I:I I___;'_T__ @
| |
|
SHOP WELDED CI_IP\_4: @| _@T i =<_E*
| ' I N
| s
|
|
|
|

|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
.|_
L_
|
— 7
s EQ.
I
|
)

SW_OR.EW GIRT DETAIL

SIMPLE=SPAN BYPASS GIRTS AT INTERIOR BAY COLUMNS
NOTE:-USE (4) 1/2°x 1 1/4" A307 BOLTS HO500/NUTS H0400

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER

REQUIREMENTS ( CC1 020 )
LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15
BY: AK CHK: EGB CC1020.DWG 11.2.3



Eric.Babcock
LEGACY PRODUCT INFORMATION


GE==0Al  PRODUCT & ENGINEERING M

BD0120 — EAVE STRUT AT ENDWALL
Download DWG file by clicking here.

FASTENER AT EACH
SUPPORT.

USE H1020 AT PURLINS
& EAVE STRUTS.

PURLIN, USE H1070 AT JOISTS.

EAVE STRUT,

OR JOIST\

u <« RAKE ANGLE
(L.L.V.)
MK. MARO1
1/4”
bt
$

RAKE ANGLE ATTACHMENT
AT ENDWALL STEEL LINE C BD0120 )

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15
BY: AK CHK: EGB BD0120.DWG 11.2.4


dtls/bd0120.dwg

BUILDING SYSTEMS

BG0010 — SHORTSPAN JOIST CONNECTIONS (WELDED) @ RIGID FRAME RAFTER

A

% =27
MIN. FLANGE WIDTH = 6"
$ € RAFTER
1/4" !
H1070 AT * h/s" N2 1/2" /RecARDLESS OF
EACH SUPPORT i 178" |/ 2 1/2" \BOLTED CONDITION
! fJOIH
RAKE ANGLE 7 |
(LLv.)

MK. MARO1

!
!
_/
ENDWALL RAFTER
[

(2) 1/2" X 2" A325
BOLTS (MK. HOB03) AND
NUTS (MK. HO300)

WHERE NOTED "B” ON PLAN

END CONDITION FOR:
WELDED ROOF JOIST SYSTEM

REGARDLESS OF
BOLTED CONDITION

/7 JOIST

\l

Vi

RAFTER _/ (4) 1/2" X 2" A325

. BOLTS (MK. HOB03) AND
NUTS (MK. HO300)
WHERE NOTED "B” ON PLAN

INTERIOR CONDITION FOR:

WELDED ROOF JOIST SYSTEM

JOIST CONNECTION DETAIL

LAST REVISION
DATE: 04/03/17
BY: _SDF CHK: _EGB

SHORTSPAN WELDED ROOF JOIST SYSTEM _ .
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS [ BG001 0 )
N J

DETAIL NAME IF APPLICABLE
BG0010.DWG

11.25


Kristina.Campbell
LEGACY PRODUCT INFORMATION


®

1’Hucnn‘

! BUILDING SYSTEMS

"/ (4 LOCATIONS) ALONG

22 "\EACH EDGE OF PLATE

21/2” x 8" x 1/4”
PLATE MK. JTPO1 h/s" N2 1/2”/REGARDLESS OF

/T/S" L2 1/2”\BOLTED CONDITION
7 {

—(4) 1/2"¢ X 27 A325

BOLTS (MK. HO603) AND
NUTS (MK. HO300)
WHERE NOTED ”B” ON PLAN

}

(

JOIST

RAF——FERM
GIRDER

FOR WELDED W ROOF JOIST SYSTEM,
APPLIES. ONLY TO LOCATIONS DESIGNATED
WITH ARELATED TRIANGLE OR CIRCLE SYMBOL

SPCLWJOIST ATTACHMENT CONDITION

SHORTSPAN WELDED ROOF JOIST SYSTEM .
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS 4 BG0030 N
\ J

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 04/03/17

BY: SDF CHK: EGB BG0030.DWG 11.2.6



Kristina.Campbell
LEGACY PRODUCT INFORMATION


e - =

Mocen & ENCINEERING|

BUILDING SYSTEMS

CG0060 — GIRT TO JAMB

NOTE:
INSTALL CLIPS ON JAMB BEFORE STANDING JAMB.
USE LEVEL TO ALIGN GIRTS ADJUST CLIP AS REQUIRED.

FRICTION CLIP (VAN FRICTION..CLIP~
MK. JCPO2 AT 8 : MK. JCAO2 AT 8
MK. JCPO1 AT 10” g MK..JCAOT AT 10
MK. JCPO3 AT 12 1/2] 4w MK. JCAO3 AT 12
JAMB [ GIRT
|
/.
- T__I__L_l
I org
ﬁlm{f‘r@—'-—%
i |
|
_ CLEAR OPENING | ‘ | w
| -
I
Biey |
Y .
| 2
STEEL LINE 1| I

RIGHT HAND DETAIL SHOWN, LEFT HAND OPPOSITE

GIRT. TO JAMB CONNECTION

NOTE: USE-(4) 1/2" x 1 1/4" A307 BOLTS H0500/NUTS H0400

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER C )
REQUIREMENTS CGOOGO

DATE: 02/16/15
BY: AK CHK: EGB CG0060.DWG

LAST REVISION DETAIL NAME IF APPLICABLE ‘
11.2.7



Eric.Babcock
LEGACY PRODUCT INFORMATION


e -

rocen & ENGINEERING

T CLIP MK. HCJ__
A | (2) 1/2" x 1 1/4" A307
: BOLTS (HO500) & NUTS (H0400)
HEADER= | (2) 1/2" x 1 1/4" A307
\L THIN HEAD BOLTS (H0515) & NUTS (H0400)
| ./
JAMB Eﬂ: e
\\ | i et — — — — — — — i —
~_ 1]
LEFT HAND DETAIL SHOWN,
R RIGHT HAND OPPOSITE
[
| (2) 1/2" x 1 1/4” A307
THIN HEAD BOLTS (H0515)
@5»‘ & NUTS (HO400)
CLIP
MK. HCJOT AT 8” OR 10"
JAMB y/ MK, HCJO2 AT 12"
HEADER
STEEL LINE .
SECTION A

HEADER TO JAMB CONNECTION

NOTE: USE (2) 1/2" x 1 1/4" A307 BOLTS HO0500/NUTS HO0400
REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER C CG0050 )
RFQUIRFMFNTS

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15
BY: AK CHK: EGB CG0050.DWG 11.2.8


Eric.Babcock
LEGACY PRODUCT INFORMATION


-

HI_IC:UF!

I BUILDING SYSTEMS \

CG0055 - JAMB TO GIRT

DIM. C= 8" AT 8" & 10" GIRTS
DIM. C= 8" AT 12" GIRTS

DIM. B= 1" AT 8" & 10" GIRTS
DIM. B= 3/4" AT 12" GIRTS

ERECTOR NOTE:
—PRE-DRILL HOLES AT NESTED ZEE GIRTS & DOUBLE CEE GIRTS IF REQUIRED.
—IF THE T-CLIP IS LOCATED IN THE SAME LOCATION AS NESTED GIRT BOLTS, THE
NESTED GIRT BOLTS CAN BE REMOVED.

LEFT HAND DETAIL SHOWN,

DIM. A= 4" AT 8” & 10" GIRTS
DIM. A= 4-1/4" AT 12" GIRTS

RIGHT HAND OPPOSITE ]
A _ - |
» T 7T |

| | .

T T T Y N ‘ﬁ
¥ K i

sl ™ WL F
C \\ /
A \\ DOOR JAMB ad

CLIP MK. JCTO1/( <
e .

Rt /7"7

e SECTION "A”

1
JAMB . TO GIRT CONNECTION

NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS H0500/NUTS H040

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER OC CGOO55 )

RFOQUIRFMENTS

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15
BY: AK CHK: EGB CG0055.DWG 11.2.9


Eric.Babcock
LEGACY PRODUCT INFORMATION


BUILDING SYSTEMS \

TYP. FRICTION CLIP
MK. JCP02 AT 8"

MK. JCPO1 AT 107
MK. JCPO3 AT 127

FRAMED
OPENING

= =
J TYP. FRIGTION CLIP

MK. JCBO2 AT 8”
MK “JCBO1 AT 10"
MK. JCBO3 AT 12

(2) 1/2” X 1 1/4” A307
BOLTS HO500/NUTS H0400

FRAMED-_OPENING DETAIL

SILL & HEADER.TO JAMB CONNECTION CG
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS 0053

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15

BY: AK CHK: EGB CG0053.DWG 11.2.10



Eric.Babcock
LEGACY PRODUCT INFORMATION


-

HI_IC:UF!

I BUILDING SYSTEMS \

CG0059 - JAMB TO GIRT

DIM. A= 4" AT 8” & 10" GIRTS DIM. B= 1" AT 8" & 10" GIRTS DIM. C= 8" AT 8" & 10" GIRTS
DIM. A= 4-1/4" AT 12" GIRTS DIM. B= 3/4" AT 12" GIRTS DIM. C= 8" AT 12" GIRTS

ERECTOR NOTE:

—PRE-DRILL HOLES AT NESTED ZEE GIRTS & DOUBLE CEE GIRTS IF REQUIRED.
—IF THE T—CLIP IS LOCATED IN THE SAME LOCATION AS NESTED GIRT BOLIS, THE
NESTED GIRT BOLTS CAN BE REMOVED.

RIGHT HAND DETAIL SHOWN, 6) H1020
LEFT HAND OPPOSITE gASTENERS

A > GIRT S ___F__(

CLIP MK. JCTO' SEEee
A DOOR JAMB i

b
b
v

I
0
0

|

[ - 12

[ .

‘ .

Lo
]

:—:_:_: ]

)

_/\_.

SECTION "A”

DOOR_JAMB TO GIRT CONN

NOTE: USE (4) 1/2°X 1 1/4” A307 BOLTS HO0500/NUTS H0400

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER ( CG0059 )

RFQUIRFMENTS

DATE: 02/16/15
BY: AK CHK: EGB CG0059.DWG

11.2.11

LAST REVISION DETAIL NAME IF APPLICABLE ‘


Eric.Babcock
LEGACY PRODUCT INFORMATION


e a0

| | —

| fMucor| |
| ‘

BUILDING SYSTEMS

CG0130 - JAMB TO RAFTER

®
¢ 4" FLUSH
RAFTER| 5”7 INSET
——————— 1
© 8" & 12 :
©.10"
(4) 12-24 x 1 1/2" | '
TEK 5 / H1070 — 11
‘ | e S 72 =
Y1 T\ ]
.| @) 1/2°% x 1 1/4” A307 | | : , :
- BOLTS HO500/NUTS HO400
JAMB | (HAND: TIGHTEN |
& BURR THREADS) o g g 19" 4 "
| e 10" | 4" 3
L /CLEAR OPENING || N
SECTION A—A

JAMB TO RAFTER CONNECTION

JAMB AT FLUSH OR INSET POST & BEAM ENDWALL

REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS ( CGO1 30 )

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15

BY: AK CHK: EGB CG0130.DWG 11.2.12



Eric.Babcock
LEGACY PRODUCT INFORMATION


Hu:::n:z
i

BUILDING SYSTEMS

CG0040 — JAMB TO FINISH FLOOR AT MASONRY WALL

FRICTION CLIP
MK. JCPO2 AT 8" GIRTS

FRICTION CLIP %
MK. JCAO4 AT 8"

FRICTION CLIP %
MK. JCAO2 AT 8"

MK. JCPO1 AT 10" GIRTS MK. JCAO5 AT 10" 1.1/4° MK. JCAO1 AT 10"
MK. JCPO3 AT 12" GIRTS MK. JCAO6 AT 12" MK. JCAO3 AT 12"
(ATTACHMENT TO (BOLTED VERT. TO
DOOR JAMB SLAB BY OTHERS) JAMB)
—-—
SN 8
g &
[} L g 6
E|E %|N _ CLEAR
2ls |r ~ OPENING
[N _ CLEAR =<
OPENING <+ %
| 0 G
.
<[ g
<1
N % \
= WALL SYSTEM BY OTHERS
w —
z |
o m E DOOR JAMB
WALL SYSTEM
5 BY GTHERS _SECTION B _

ONLY REQUIRED AT WALL HEIGHTS OF GREATER THAN OR EQUAL TO 2’0"

SECTION A USE (2) 1/2"X 1 1/4” A307 THIN HEAD BOLTS (HO515) AND NUTS (H0400)

USE (2) 1/2"X 1 1/4" A307 BOLTS (HO500) AND NUTS (H0400) FRICTION CLP %

— MK. JCAO4 AT 8"
g MK. JCAOS AT 10"
. 3 MK. JCAO6 AT 12"
FRICTION CLIP 2 (ATTACHMENT TO
SECTION A MK. JCAO4 AT 8" 5 — SLAB BY OTHERS) l
MK. JCAOS AT 10" ~ |2
MK. JCAQE AT 12" =I -
(ATTACHMENT TO 2z
Qo
FRICTION GLP SLAB BY OTHERS) E: CLEAR
MK. JCPO2 AT 8" GIRTS =5 e ~ OPENING "]
MK. JCPO1 AT 10" GIRTS —MH— ) )} -2 &
MK. JCPO3 AT 12” GIRTS x| o
. = _
R 3
| BASE ANGLE OR| ~ | * = l
BASE CHANNEL | |2
SECTION B SE o aLEEEL
i \—FRICTION CLP
ONLY REQUIRED AT WALL £ - MK. JCAD2 AT 8"
HEIGHTS OF > 2'-0” <) Mg J g MK. JCAD1 AT 10
} T E g MK. JCAD3 AT 12"
. . BOLTED VERT. TO
R AR g e
(H0515) NUT (H04-00) * ALTERNATE SECT'ON B
ONLY REQUIRED AT WALL HEIGHTS OF GREATER THAN OR EQUAL TO 2'—0"

USE (2) 1/2°X 1 1/4™ A307 THIN HEAD BOLTS (HO515) AND NUTS (HO400)

% ERECTOR NOTE:

SET ANCHORS IN CONCRETE, ATTACH CLIP TO JAMB PLACE CLIP
OVER ANCHORS, NO NUTS REQUIRED. IF STEEL IS ERECTED BEFORE
THE FINISHED FLR. IS POURED, USE THE ALTERNATE BASE DETAIL.

( CG0040 >

JAMB TO FIN FLR CONN

JAMB AT MASONRY WALL WITH BASE ANGLE OR BASE CHANNEL
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

(8,10,12)

LAST REVISION
DATE: 02/16/15
BY: _AK CHK:

DETAIL NAME IF APPLICABLE
CG0040.DWG

EGB 11.2.13



Eric.Babcock
LEGACY PRODUCT INFORMATION


BUILDING SYSTEMS

Gl PRODUCT & ENGINEERING|

CG0067 — H.R. JAMB TO COLD FORM HEADER

HOT—ROLLED JAMB
COLD—FORMED HEADER

CLIP

MK. HCJO1 AT 8" GIRTS

MK. HCJO1 AT 10: GIRTS

MK. HCJOZ AT 12" GIRTS
/

(2) 1/2" x11/4" A307
| A307 THIN HEAD BOLTS

H0515/NUTS HO0400

11 1/4”
|

CLEAR OPENING

COLD FORMHEADER TO HOT—ROLLED JAMB

USE (2) 1/2%..x 1 1/4" A307 BOLTS HO500 / NUTS H0400

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER C CGOO67 )

REQUIREMENTS

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15

BY: AK CHK: EGB CG0067.DWG 11.2.14



Eric.Babcock
LEGACY PRODUCT INFORMATION


®

' NUCOR '

BUILDING SYSTEMS

CG0068 — H.R. JAMB TO GIRT

HOT—ROLLED JAMB
SHOP—-WELDED PLATE

CLIP .
MK. HCJO1 AT 8" GIRTS
MK. HCJO1 AT 10" GIRTS
MK. HCJO2 AT 12" GIRTS

GIRT

TS

R

:

. _CLEAR OPENING |

STEEL LINE P |

| 3/4
11/4”

- B
I
L=

GIRT TO HOT—ROLLED JAMB

NOTE: USE (4) 1/2" x 1 1/4" A307 BOLTS H0500 / NUTS H0400

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER
REQUIREMENTS ( CGOOGB )

LAST REVISION DETAIL NAME IF APPLICABLE ‘
DATE: 02/16/15

BY: AK CHK: EGB CG0068.DWG 11.2.15



Eric.Babcock
LEGACY PRODUCT INFORMATION


e -

BUILDING SYSTEMS |

Mocen] & ENGINEERING MANU)

CG0069 — H.R. JAMB TO GIRT

ERECTOR NOTE:

—PRE-DRILL HOLES AT NESTED ZEE GIRTS & DOUBLE CEE GIRTS IF REQUIRED.
—IF THE T—-CLIP IS LOCATED IN THE SAME LOCATION AS NESTED GIRT BOLTS, ‘THE
NESTED GIRT BOLTS CAN BE REMOVED.

LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE (6) H1020

FASTENERS—\
GIRT

SHOP—WELDED < \sto--- \\ _______ /
T—CLIP c=m == =2
HOT—ROLLED

>

SN

\ JAMB \\_\
° T AN L
SECTION "A”

HOT-ROLLED JAMB TO ZEE GIRT
SHOP—-WELDED CLIP CONNECTION C CGOOGg )

DATE: 02/16/15
BY: AK CHK: EGB CG0069.DWG

11.2.16

LAST REVISION DETAIL NAME IF APPLICABLE ‘


Eric.Babcock
LEGACY PRODUCT INFORMATION


BUILDING SYSTEMS

BE=EMl  PRODUCT & ENGINEERING MANUE

CG0071 — JAMB TO BOX BEAM DETAIL
Download DWG file by clicking here.

LEFT HAND DETAIL SHOWN,
RIGHT HAND OPPOSITE

A
—> COLD—FORMED

BOX BEAM T

(6) H1020 (] B
/ FASTENERS
- SHOP—WELDED
/ CLIP (JCTO3)
HOT—ROLLED
Y, JAMB

NN N

SECTION "A”

HOT—ROLLED JAMB TO BOX BEAM

SHOP—WELDED CLIP CONNECTION

REFERENCE STANDARD WASHER DETAIL FOR TYPICAL WASHER ( CGOO71 )

REQUIREMENTS

LAST REVISION DETAIL NAME IF APPLICABLE ‘
DATE: 02/16/15

BY: AK CHK: EGB CG0071.DWG 11.2.17



dtls/cg0071.dwg

N

BUILDING SYSTEMS |

ITNucar | —|

PRODUCT & ENGINEERING MANUAL

CG0098 — JAMB TO BOX BEAM DETAIL
Download DWG file by clicking here.

COLD—FORMED
BOX BEAM

(EAVE ANGLE
NOT SHOWN)

T—CLIP MK. JCE
AT 8" & 127 JAMBS.

ATTACH WITH (6)
H1020 FASTENERS.

—4
—
—q
M
—a

DOOR JAMB /

EDGE OF 12" JAMB

(8" OR 127) JAMB TO BOX BEAM

NOTE: USE (4) 1/2” x 1 1/4” A307 BOLTS HO500/NUTS HO0400 C CGOOQS )
REFERENCE ERECTOR NOTE FOR TYPICAL WASHER REQUIREMENTS

LAST REVISION DETAIL NAME IF APPLICABLE ‘
DATE: 02/16/15

BY: AK CHK: EGB CG0098.DWG 11.2.19



dtls/cg0098.dwg

N

BUILDING SYSTEMS |

GIEAl  PRODUCT & ENGINEERING MANUAL

HIP AND VALLEY PURLIN CONNECTIONS
BB0200 — DOUBLE PURLIN AT HIP

Download DWG file by clicking here.

;(CENTERUNE OF HIP

UPSLOPE

FACTORY

WELDED CLIP
\/ \

HIP RAFTER—///////

PURLIN CONNECTION AT HIP
USE (8) 1/2” x 1 1/4” A307

BOLTS (HO500) AND NUTS (H0400)

REF. ERECTOR NOTE FOR TYP. WASHER REQUIREMENTS

LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 02/16/15
BY: _AK CHK:_EGB BB0200.DWG

HIP CLIP
MK. GXC__

PURLIN

(_BB0200 )

‘ 11.2.20


dtls/bb0200.dwg

' NUCOR '

BUILDING SYSTEMS

BB0220 — HIP PLATE DETAIL

Download DWG file by clicking here.

OF HIP

CENTERLINE
)

g

HIP INSULATION PAN DETAIL

THE INSULATION PAN IS PROVIDED AT THE HIP
WHEN THE ROOF PANELS ARE BY OTHERS

LAST REVISION
DATE: 02/16/15

EAVE ANGLE
Pum%%

MITER EAVE ANGLES
TOGETHER AT THE CORNER
AS SHOWN ABOVE

EAVE ANGLE

INSULATION PAN MK. HIP__
WITH (2) H1020
FASTENERS AT EACH
SUPPORT (MITER AT
CORNER AS SHOWN)

EAVE PURLIN (EAVE
MEMBER TYPE MAY
VARY, EAVE PURLIN
SHOWN FOR

REFERENCE ONLY)

DETAIL NAME IF APPLICABLE

BY: _AK CHK:

EGB BB0220.DWG

BB0220

11.2.21


dtls/bb0220.dwg

®

BUILDING SYSTEMS

GE==l  PRODUCT & ENGINEERING MAN

BB0300 — DOUBLE PURLIN AT VALLEY
Download DWG file by clicking here.

s CENTERLINE OF VALLEY

A

PURLIN

UPSLOPE

FACTORY
WELDED CLIP

N

VALLEY CLIP
MK. C

\ VALLEY RAFTER

PURLIN CONNECTION AT VALLEY
USE (8) 1/2” x 1 1/4” A307
BOLTS (H0500) AND NUTS (H0400)

REFERENCE ERECTOR NOTE FOR WASHER REQUIREMENTS C BB0300 )

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15
BY: AK CHK: EGB BB0300.DWG 11.2.22


dtls/bb0300.dwg

BUILDING SYSTEMS

BB0320 — VALLEY PLATE DETAIL
Download DWG file by clicking here.

INSULATION PAN
MK. VIPC \

PURLIN

MITER EAVE ANGLES
TOGETHER AT THE CORNER
AS SHOWN ABOVE

3/4” TAPE MASTIC
(MK. H3000) s
BETWEEN THE EAVE s SN FASTEN INSULATION
ANGLE AND THE Rl NN PAN AT EACH
e - ~ ~N
INSULATION PAN Pt U SUPPORT WITH (2)
| NN H1020 FASTENERS
EAVE - -7 - NSO~
ANGLE P P S O8NS (MITER AT CORNER
1= - RO AS SHOWN)
- - - ~ ~ ~N
// \\
EAVE
PURLIN

CENTERLINE
OF VALLEY
VALLEY INSULATION PAN DETAIL
WEN THE ROOF PAVLS ARE BY OGRS BB0320

LAST REVISION DETAIL NAME IF APPLICABLE
DATE: 02/16/15

BY: AK CHK: EGB BB0320.DWG 11.2.23



dtls/bb0320.dwg

m—

BUILDING SYSTEMS |

MMocen) & ENGINEERIN

COLD-FORMED BOX BEAM CONNECTIONS
AN0430 — EAVE EXTENSION AT BYPASS GIRTS (EAVE STRUT)

EAVE STRUT

EAVE STRUT CLIP
MK. ESE11 EXTENSION BEAM

BOX BEAM

J (6) 5/8 ” 8 X 2 1/4”
MAIN FRAME. COLUMN A325 BOLTS HO0610
A325 NUTS HO0310

I_U)Av_______________

|
, ~ 8" OR 10
’
@ EAVE EXT. ¥ @ BLDG V
LOW EAVE EXTENSION DETAIL
BYPASS GIRTS AT INTERMEDIATE FRAMES
FOR HAUNCH DEPTHS > 1°—3"
NOTE: USE 1/2”X 2" A325 BOLTS HO603/NUTS HO0300 U.N.O. ( ANO430 )
LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 02/16/15
BY: AK CHK: EGB ANO0430.DWG 11.2.24



Eric.Babcock
LEGACY PRODUCT INFORMATION


e -

BUILDING SYSTEMS

g & ENGINEERING

AN0440 — EAVE EXTENSION AT BYPASS GIRTS (EAVE PURLIN)

REV. PURLIN CLIP
MK. FGCO1

EAVE ANGLE
MAE__

EXTENSION BEAM

BOX BEAM

I_U)Av_______________

(6) 5/8 " ¢ X 2 1/4
MAIN FRAME COLUMN / A325 BOLTS H0610
| A325 NUTS HO310
i, 82.0R 10
]
@ EAVE EXT. ¥ @ BLDG. L
LOW EAVE EXTENSION DETAIL
BYPASS GIRTS AT INTERMEDIATE FRAMES
FOR HAUNCH-DEPTHS > 1'—3"
NOTE: USE 1/2"X 2" A325 BOLTS HO603/NUTS H0300 U.N.O. ( ANO44O )
LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 02/16/15
BY: AK CHK: EGB ANO0440.DWG 11.2.25



Eric.Babcock
LEGACY PRODUCT INFORMATION


BUILDING SYSTEMS |

IGT==l PRODUCT & ENGINEERING.

BA0600 — NON-SLOPED FLANGE BOX BEAM AT LOW EAVE
Download DWG file by clicking here.

11/ 1 1/4
BOX BEAM EAVE ANGLE

FACTORY WELDED TIE-PLATE

CONTINUOUS EAVE ANGLE | BOX BEAM\D

MK, MAE__ WITH H1020
FASTENERS (SHOWN
CUT-AWAY FOR CLARITY)

A

T—.\@
T

SOATE OR_ RAFTER
2(7] DETAIL A
i *%

ﬁ/ rooF, STEEL W
H1020 FASTENERS TR
AT 6" O.C. AT CFR. BOX BEAM

ONE AT EACH END FACTORY
AT CLASSIC ROOF WELDED
TIE-PLATE
EAVE ANGLE
COLUMN CAP DETAIL B
PLATE OR RAFTER
COLD—FORMED BOX BEAM AT LOW EAVE (STD. CONN.)
REFERENCE ERECTOR NOTE FOR TPICAL WASHER. REQUIREMENTS BA0600
LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 02/16/15
BY: AK CHK: EGB BA0600.DWG 11.2.27



dtls/ba0600.dwg

GE==l  PRODUCT & ENGINEERIN

BC0200 — NON-SLOPED FLANGE BOX BEAM AT HIGH EAVE OR RIDGE
Download DWG file by clicking here.

BOX BEAM 1147 118
FACTORY WELDED TIE-PLATE L _]T

BOX BEAM— [_
COLUMN CAP :_;

AR

PLATE OR RAFTER 12— 2" DETAIL A
qor STEEL W
. BOX BEAM
FACTORY
WELDED
TIE-PLATE
CAP PLATE
OR RAFTER BUATE  OR_ RAFTER DETAL B
CO%[;—/FORMED BOX BEAN} AT _HIGH EAVE (STD. CONN.
USE (4) 1/2” x 2" A325 BOLTS H0603/NUTS H0300
RFFFRFNCF FRFCTOR NOTF FOR TYPICAI WASHFR RFQUIRFMFNTS BCOZOO
LAST REVISION DETAIL NAME IF APPLICABLE

DATE: 02/16/15
BY: AK CHK: EGB BC0200.DWG 11.2.28



dtls/bc0200.dwg

	TABLE OF CONTENTS
	WELDED GIRT CLIP DETAILS
	CC1010 – Bypass Lapped Girts
	CC1020 – Bypass Simple-Span Girts

	GENERAL DETAILS
	BD0120 – Eave Strut At Endwall
	BG0010 – Shortspan Joist Connections (Welded) @ Rigid Frame Rafter
	BG0030 – Shortspan Joist Connections (Welded) @ Braced Bays

	FRAMED OPENING CONNECTIONS
	CG0060 – Girt To Jamb
	CG0050 – Header To Jamb
	CG0055 – Jamb To Girt
	CG0053 – Sill & Header To Jambs
	CG0059 – Jamb To Girt
	CG0130 – Jamb To Rafter
	CG0040 – Jamb To Finish Floor at Masonry Wall
	CG0067 – H.R. Jamb To Cold Form Header
	CG0068 – H.R. Jamb To Girt
	CG0069 – H.R. Jamb To Girt
	CG0071 – Jamb to Box Beam Detail
	CG0098 – Jamb to Box Beam Detail

	HIP AND VALLEY PURLIN CONNECTIONS
	BB0200 – Double Purlin at Hip
	BB0220 – Hip Plate Detail
	BB0300 – Double Purlin at Valley
	BB0320 – Valley Plate Detail

	COLD-FORMED BOX BEAM CONNECTIONS
	AN0430 – Eave Extension at Bypass Girts (Eave Strut)
	AN0440 – Eave Extension at Bypass Girts (Eave Purlin)
	BA0600 – Non-Sloped Flange Box Beam at Low Eave
	BC0200 – Non-Sloped Flange Box Beam at High Eave or Ridge





